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MANAGEMENT
Paper 11

Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate.

Candidates should attempt Question Nos. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

All questions carry equal marks.

Assume suitable data if considered necessary
and indicate the same clearly.
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Section ‘A’

1. Auempt any three of the following questions .

(a)

(b)

(c)

20x3=60

A regimen consisting of a daily dose of
vitamin C was tested to determine its effective-

‘ness in preventing the common cold. Ten
.people who were following the prescribed

regimen were observed for a period of one
year. Eight survived the winter without a cold.
Suppose the probability of surviving the winter
without cold is 0-5 when vitamin C regimen is
not followed. What is the probability of
observing eight or more survivors, given that
the regimen is ineffective in increasing
resistance to colds ?

Discuss the managerial utility of the sensitivity
analysis in linear programming.

Assuming a linear regression model of the type
Y;=a+bX;+ U, i=1, 2...29

the following data have been collected
Y x2=100, T XY, =72, 3 X, = 2610,
> Y, =1740

where X; and Y: are deviations of X, and }’l.

from their respective sample means X and Y.
What is the least square estimate of a and b ?
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20x3=60
(%) "TaRer s & fFawer & guarfaar st Fafor
FA & foru, fGerfam ‘W@ fir ow s gue &
TS 92T &1 9T faar /@ | 0F g9 e
&1 o Faffg v s @ 9, =
ay T srafer e Jeor faar @ | 3 & s
H&T & HIEH H [T Al g3 | 719 oifog i w1
faerfse &’ & wzmTaE @ smERor 7 fEE S
LT T, I 94l & HIEH A [ & a9 @ 6
QTfaRaT 0-5 BT & | 37 ot sferes S{e gent @
2@ T T FAT 9TIHEAT BRI, ST J[RTAT & gfq
gfare & gfz &= & g2 sgwEt 8 7
(@) s g F ddear oo v geudhm
IrafiaT o 5=t fifsa |
(1) R YV,=a+bX,+ U, i=1, 2..29 & U&H
ﬁmwwmaaﬁm%@,ﬁmﬁ%ﬁ
sTehe TR faeg oo & -

= x7 =100, T X; Y] = 72, T X, = 2610,

>Y; =1740
Stet X, SRy, famem & X, 3R v, & sr-arw
gicasf areAT X R ¥ | | g 3T b &7 geaw a9t
HATeher T @ 7
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(d) The following table gives the number of
aircraft accidents that occurs during the
various days of the week. Find whether the
accidents are uniformly distributed over the

week.
Days Sun | Mon | Tue | Wed | Thurs | Fri | Sat
No. of
accidents 14 16 8 12 11 91 14

(Given : the values of chi-square significant at
5, 6, 7 d.f. are respectively 11-07, 12-59, 14-07
at 5% level of significance).

2. Explain the difference between the product moment
correlation coefficient and rank correlation coeffi-

cient.

The rankings of ten students in two subjects A and B

are as follows :

A |3 kD

10

B |6 |4

10

Find the correlation coefficient and comment on

the result.
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3

A small firm makes three similar products, which
all follow the same three-step process, consisting of
milling, inspection and drilling. Product A requires
12 minutes of milling, 5 minutes for inspection,
and 10 minutes of drilling per unit; product
B requires 10 minutes of milling, 4 minutes for
inspection, and 8 minutes of drilling per unit;
product C requires 8 minutes of milling, 4 minutes
for inspection, and 16 minutes of drilling. The
department has 20 hours available during the next
period for milling, 15 hours for inspection, and 24
hours for drilling. Product A contributes Rs. 2-40
per unit to profit, product B contributes Rs. 2-:50 per
unit, and product C contributes Rs. 3-00 per unit.
Determine the optimal mix of products in terms of
maximizing contribution to profits for the period.

60

Discuss in detail the different supply - chain
strategies. What is an appropriate supply chain
design. for a competitive environment ? 60

Section ‘B’

A.B. Motors (ABM) is one of the oldest multi-
national corporations in the world. Founded in
1910, ABM established its first international
operation in the 1920s. Historically, most of the
ABM'’s foreign operations have been concentrated
in Western Europe.
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3. OF DRI FH I G0 Ieq1g SATar 2, S Yo,
feveror 3z e Y w & - afsmar #1 sreor
ferar smar 8 | s ‘F & fow ofy = Swor ¥
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BT 7 60

gvT ‘@’
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